WS 6.6 Quiz Review!

1. Fill in the missing name or formula for the following compounds S-}-g.qn,
Rbs  rubidium Sulfde Sn(CO;)g cor boale )
oo Adchlorine mon oxide SnsP, lm_(LL)_pjmﬁﬂzdﬁ (Stannous-
sk, sul fuc dfluprigle sns_Hafu) Sulb phosph-ze)
MeCl_Magnesiun chloride noxi TN s
ferric chromateJ F €4 (Cr{? L';') 3 dinitrogen tetroxide N 2 0 ;{ S u!ﬁd& )
potassium phosphate K 2 P 01! nitrogen dioxide N 0 2
iron (I) carbonate Fe C O 3 arsenic trifluoride A.S' = 2
lithium carbonate L-l\z ( 0 2 chromium (III) phosphide Cr F
zinc hydroxide__Z)(OH) 5 NCls nn‘mag) 1richloride
Magnesium phosphate /1 3 ( PO:_,) 2 AlF; wr ! d €
Lead (Il sulfite_ PAST 3, Ag:Cro,_§iIvér chromall
Copper (1) sulfite Cu_i SO 2 IFs_ TpAd et rige
2a. For each element in the six compounds below, indicate whether the element must gain, lose, or share
electrons in order to form the compound. \ .
iom'c i ona'c covalint covaleat 1N
Rb,S Li,O ChO SF, | MgCl, & Mg losbo £
glectrons Ko l] LI“J Tk gaing -
c i
loSes oS¢ ¢ Sad¥F g}\a.r{’, -
Joins ele Both Led O With each otk

SY\WC €~
(wrth ch ot ko)

b. What do metals typically do with their electrons when they form compounds?

They lose 2lecthons, ad theredme -}Mj become Cahond.

(e, Con &bfo  Jo "metallic bonding” whon 7‘4\4_7 form alloy/
jM'H cove Hhat la;hlr) &

¢. What do nonmetals typically do with their electrons when they form compounds?

'f)w}, tan eithee qain elechow (if bonding Fo/uoith A meted) (Lm}?

o Shae 0lechonws (Hémdxr'y with 4 ”Dnm”""@ NWW%)



3. Thallium (TI; element number 81) can form ions with a +1 charge and a +3 charge. :

a.What is the charge on a Thallium atom? { a‘lWA aen

b. How many protons and electrons does it (the atom) have? 8 l p _ﬂ e ol T:e +

2€ o hao 81p,

¢. How many protons and electrons are in a [hallium (IIT) ion? gl p
0+3 ‘ ; 80 e.
d. Which of the Thallium ions (if any) have the same number of electrons as a noble gas? J lf | 'H'| Or -

neibw o has  2,10,1¢,3b,54, o b ele chons

e. Actinium is element # 89. Actinium ion is not on your ion sheet.
How many protons and how many electrons would you predict to be in actinium jon? ?q p ?é

Ac cold fom a +3 jon , dapd have 86 ¢- L«ke Rn

f. Fill in the ion charges below without looking at your ion sheet ! (A perlodlc table might be helpful!)

Ion Name: Ion Formula Ion Name: Ion Formula
(fill in the charge!) (fill in the charge!)

Sodium ion Na.r| oxide ion 0-%

Sulfide ion s-* potassium ion K *

Aluminum ion Al" 8 calcium ion Ca t2

phosphide ion p-3 lead (1) ion Pb*2

barium ion Ba*? manganese (IV)ion Mn +4

iodide ion B Gold (IlT) ion Au™*3

g. What is the charge on.... a sodium atom? (Zﬂ a chlorine atom? |2§ an aluminum atom?ﬂ
) .
/4"1“0015 e newhod ! (1onS have cknrg,a)

4. Rewrite each number in 501ent1ﬁc notation, so that it keeps the same number of significant figures as it
started with.

() o.00003460 _ 3.460 * IO‘S s 5-58 x |03 (3)
(1) 50 5 x |0 00 F > 10* ()
(4) 2460. _ 2,460 x|03 88888000 9.3 68 ¢ x| D7 (5)
(1) 0.0009 9 x gt 46500 U.6S60 ¥ 10 (5)
(3) 7150. _1.50 x)0* 7_ 13 x10' (2)
(4) 93.00 1.300 <10’ 00040 4.0 » 10°F (2)
(2) 75000 15 x 10" 610 b.l=10° ()

k

(2) 014 L4 x10”! 60000 b %10 (1)



5. Significant Figures!
Do each calculation, and report the answer to the correct number of significant figures.
Use scientific notation ONLY WHEN NECESSARY.

3417-3217 = 0. A — LQ".IDO/
106232-10548 = 0. 15X — | 0.7

5
106232/105.48 = (001293 —a I [.OO ?i}
n3a+8692 = 10426 — [109.2¢ |
9999/3333 = 5 [3.000}

—_—

9999-3333 = bbbl = | Lbbb/

12222730555 = 4 = I'H.OOOOJ
s40x8925 = H§148 — I 42.2 |

798x63 = 90.2%4 = LSO- ]
40+131 = 0L O 620J
292 = |2.20
0.022 > | 0.022 f
68+132 =__ 20 = /Q0.0;
72.186-70.110 = 2.0F6 = {2-076 L
8800/440 = 200 — /2.0" |Oz_J
0.0004x197 = 0.0788 ->[(9.09 _ J

40. x200. = 3000 —"(3-0" ip?
0.3x130 = 6.9 - ] | 7 \
2438-2417 =_ 0. 21 —> 0-'“3
2438-2418 = 0.2 ’ 0'10)
2ais/2438 = 0997965 | 0-"‘“‘3]
93.0x968495 = 1007 0.0%5 —> qomoj——j
93x968495 = 10070, 035 ""’T;O—;" Io,qd

88.49 — 86.29

3.147 -3.125




6. Conversions! (you will probably need some of the conversion factors given on WS 4.0 to do these.)
a. The top of a table has an area of 16200 square centimeters. Convert this into square feet.

2 R
(16200 cm )( Ail ) / 'f*) = 17.938 = 7.9 ft*] 3

2 2.1 |

b. Convert a speed of 444 meters per hour into centimeters per second.

(‘M‘fm)/ 100 CM)/éDMm) él:fl;n ___(../-2._5 C—/;:J/S;r@b

¢. Convert 343 demseconds (ds) into microseconds (us).

(343 As)[ /“51 L?#Booooo ps Jof LB 43 xlo ps | ¢

d. Convert from 4.38 x 10'1 cm?® into km?,

3

@33x)o”cm )[ ll - Em/ LO 000_438 km I k?wo

e. Iron has a density of 7.86 g/cm®. Convert this into pounds per cubic inch.

7% Ifb )/zswm = 0.193%3 —%Ko 294 ﬂb\

95335 [ inch _L_‘

f. Convert 30, mllllilters (mlL.) into liters.

(30. mL)( 1000 mL) LOOBO L ‘j

g. Convert 0.00198 kilograms into mll g:ams

(0.00199 K )( 7" ) - 1950_mg)5

h. Convert 1.67 nan(igra’is (ng) into microg,ram% (ng).
(1.67 nj)(mi) Lo 00167 /Aj s

i. A glacier is moving at a speed of 91 centimeters per day. Convert this speed into nanometers per second.

q/ cm IO‘} “l(‘ [mn /0;3
( )/ {2‘-Hv 5Dmm)/60.§) AL

da] 1000 nm)

7. Write the symbol (for example, 2*Na*") for: $ '

Zoz| 42
a. An ion with 78 electrons, a mass of 202 amu, and 122 neutrons. H f} 2022122 = €O P

95
b. An ion with 36 electrons, a charge of -3, and 42 neutrons. A S 3 2+ 33> 7 5
6O
¢. An atom with 27 electrons and 33 neutrons. C 0

— < 4 cn
50‘9 € (no CN)'-"]I) ymc?mﬁ ngyniecrgssﬁr7 W




